7L R BRES AR AL £
{#7p 4 :108.1.6
T | B | HEPH | mEg 44 Hz p gy T3 HEBpH | #xix &3

1 | Z4ksi| 107.01.02 | A #5%| =322 % | 107.01.05 H5N2 | 107.01.05 10,461 |70t e

2 | Z+kEy| 107.01.04 | K #sx| + %3 | 107.01.07 H5N2 | 107.01.07 11,160 |75 ot e

3 |Z2+kgr| 107.01.04 | m4| 2+ 4w | 107.01.07 H5N2 | 107.01.07 601 |3 h o tt

4 | B AR 107.01.04 |@myss| i | 107.01.30 H5N2 | 107.01.12 38,298 gm%yum -

5 |&%gi| 107.01.08 |@y x| 2 £wg | 107.01.13 H5N2 | 106.01.13 4531 ;5 aneh

6 |Z+kgi| 107.01.02 | d 4| 2 vy | 107.01.14 | H5N2 | 107.01.14 3,915 ;i b

7 | BAgi| 107.0011 |#7HIz%| 2 %% | 107.01.18 H5N2 | 107.01.18 1,588 [ ke h e

8 |& &g 1070012 | % x| 33 107.01.17 | H5% 5 & | 107.01.18 15,463 |3 e n’

9 [§;-2%| 107.01.15 | <% a7 &% | 107.01.19 H5N2 | 107.01.19 12,312 [;#7 0%

10 |£#%:| 1070116 |;xv#x| i 107.01.19 H5N2 | 107.01.19 4,914 ;%70 ¢

11 |35 g:| 107.01.05 |- +k4| 2 #v§ | 107.01.20 H5N2 | 107.01.20 1,362 ;00 i e

12 | B dge| 1070117 |[pyae| 3 107.01.20 H5N2 | 107.01.20 10,450 |7 ot

13 | B A g| 1070119 |@y x| < %4 | 107.01.22 H5N2 | 107.01.22 10,696 |, 5"

14 |4 ¢+ | 1070117 |22 %| 4+ %+ | 107.01.30 H5N2 | 107.01.25 1,424 é:éﬁﬂ;} .

15 | Z4kgi| 107.01.22 | = A%| 43 | 107.01.25 | H5N2 | 107.01.25 28,467 | s "

16 | 2 4kgi| 107.0117 |$g#%| 3 g | 107.01.26 | HSN2 | 107.01.27 3,979 |y s misoes

17 |4;-%4| 107.01.22 | ~335%| 2 fwg | 1070129 | H5N2 | 107.01.29 589 35 e

18 |45 %:| 107.01.22 |=3sx| 4 #w§ | 107.01.29 | H5N2 | 107.01.29 596 |, s s csomss
R 19 |4s7 | 1070124 |fpi=%| 2 44 | 1070129 | H5N2 | 107.01.29 4,193 [ n ek
;; 20 |45t % | 107.01.23 |- 4k4| 2 %8 | 107.01.30 | H5N2 | 107.01.31 3,250

21 | 2 k2| 107.01.28 | ;@ #%| 2sr 43 | 107.01.31 | H5N2 | 107.01.31 4,381

22 | Z4kfi| 107.01.28 | $ % #%| i34 | 107.01.31 | H5N2 | 107.01.31 22,508

23 |4 39| 107.00.28 |ishe%| P43 107.01.31 H5N2 | 107.01.31 1,051 [ ek

24 | 2 4kgi| 107.01.24 |wmsx| 2 £vwg | 107.02.03 H5N2 107.02.02 1,368 |, it o

25 | £ &R:| 1070131 |+ &+ | f648 107.02.03 | H5N2 | 107.02.03 980 %;;ﬁw

26 | Z+4kgi| 107.01.31 | % #%| 9 4% | 107.02.03 H5N2 | 107.02.03 6,322 [7F At

27 | Z+kfi| 107.01.31 |wi@sR| 24 | 107.02.03 | H5N2 | 107.02.03 3,710

28 | 2 kf:| 107.01.31 |wis#x| 24 g | 107.02.03 | H5N2 | 107.02.03 10,381 giﬂ*

29 |2 +kmi| 107.01.23 |d#sx| & Fvg | 107.02.03 H5N2 | 107.02.04 578 [ At

30 |2 +4kg:| 107.01.23 | & ##%| 4 %+ | 107.02.03 | H5N2 | 107.02.04 1,512

31 | 2 +kg:| 107.01.26 | & #s%| 2 %5 | 107.02.04 | H5N2 | 107.02.04 3,180

32 |Adg| 107.001.31 |w-vgr| o %% | 107.02.06 H5N8 | 107.02.05 3,136 |5, ﬂ;wgw

33 |2 4kpi| 107.02.05 | @ 48| 24 g | 107.02.08 H5N2 | 107.02.08 4,823 |y n e

34 | B dg| 107.02.01 |#7Hl#%| 2+ %% | 107.02.08 | H5N2 | 107.02.08 1,944 |37 8E

35 | &4 gi| 107.0201 |#7@4#%| 4 #wg | 107.02.08 | H5N2 | 107.02.09 2,277 | b

36 |2 4kgi| 107.01.31 | % msr| 107.02.10 | H5% 7 & | 107.02.10 9,530 [; 7 ik

37 | B4 gi| 107.0201 |®=#k| 2 £wg | 107.02.10 | H5N2 | 107.02.10 2,520 ;o0 n it

38 | &% | 107.0212 |+ &+ | 4648 107.02.14 | H5N2 | 107.02.14 1,956 gﬂi;ﬁ;l 821

39 | B & gi| 107.0212 | #ss| st g | 107.02.14 H5N2 107.02.14 12,007 |7 h bt

1




T | B | HEPH | mEg 44 Hz p gy T3 HEBpH | #xix &3
40 |2 +hga| 107.0212 | $ % 4s| 2 &3 | 107.02.15 H5N2 | 107.02.15 15,285 |75 n e
41 | Zhm| 107.0215 | s@ s © ff;“ 107.02.18 H5N2 | 107.02.18 28,201 [;¥7 0%
42 | 2 +kgi| 107.02.24 | & £ 4R g 107.02.27 H5N2 107.02.27 1,552 [ et
43 | Z4kgh| 107.02.27 | A 4w g4 | 1070302 | H5N2 | 107.03.02 10,888 [,k
44 | Z4kgr| 107.0301 |4 45%| 2 s34 | 1070304 | H5N2 | 107.03.04 3745 [ hntt
45 | 2 +hgi| 107.03.01 | ¢ % 48| i34 3 | 107.03.04 | H5N2 | 107.03.04 11,805 | h o n e
46 | 2 +kgi| 107.0222 | #4%| 4 v | 107.03.05 H5N2 | 107.03.05 3,480 ;5 i’
A7 |2 4km| 107.02.22 |d 4% 2 £vg | 107.03.05 H5N2 | 107.03.05 5494 |, e n’
48 | Z kpi| 107.03.05 | & #s%| azwg | 107.03.08 | H5N2 | 107.03.09 420 |y st
49 | B % 2| 107.03.05 |37 48| 3 107.03.08 H5N2 | 107.03.09 17,761 3, e’
50 |2 +hgt| 107.0227 | #4%| + £vg | 107.03.12 H5N2 | 107.03.12 5,008 ;5 s’
51 | &4 gi| 107.03.06 |+ a #&| + fwg | 107.03.11 H5N2 | 107.03.12 6,272 |}, e
52 | B & gi| 107.03.06 |+ = #%| 1 £Fwg | 107.03.11 H5N2 | 107.03.12 3642 3, st
53 | 2 +k%:| 107.03.12 | & ##%| iy | 107.03.15 | H5N2 | 107.03.15 8,211 | h e
54 |2 4kgs| 107.03.12 | & F#%| 4+ fwg | 107.03.18 H5N2 | 107.03.19 6,626 |, 0 csors)
55 |2 tkEh| 107.03.28 | fH s it 107.03.31 H5N2 | 107.03.31 15,592 %ﬁ%ﬁm
56 | &4 gi| 107.03.27 |@y s 2 £wg | 107.03.31 H5N2 | 107.04.01 6,799 |3 e n
57 |2 +kEi| 107.03.30 | 2 a #%| p o4g 107.04.02 H5N2 107.04.02 974 [ h L0t
58 |2 +kgi| 107.03.26 |4 4sx| 2 £vg | 107.04.06 H5N2 | 107.04.06 2,893 ) e n’
59 | 2 +hps| 107.04.02 |wipsk| g4 107.04.05 H5N2 | 107.04.05 304 [ ws’

f’i; 60 |31 gi| 107.04.09 |=3e4%| ks | 107.04.12 H5N2 | 107.04.12 14,642 |70t E
61 | Z #kft| 107.04.08 |+kp #%| & p a3 | 107.04.11 H5N2 | 107.04.13 29,081 2&452;5297308;
62 |£¢ 5| 107.0410 |# k% | P | 107.04.13 H5N2 | 107.04.13 1,150 [ pantt
63 |43 7| 1070402 |fFi=%| + %3 | 107.04.15 H5N2 | 107.04.15 10,820 [;3 5ur s’
64 |2 +4kgr| 107.0410 | sa#%| #xvg | 107.04.21 H5N2 | 107.04.21 4,984 |, s’
65 | Z4kfi| 107.04.17 | ud4f| iss 4 g | 107.0420 | H5% 5 & | 107.04.21 25,657 ;o hups”
66 | & & gi| 107.0417 |+ w #&| 4+ fwg | 107.04.23 H5N2 | 107.04.23 3814 | nr
67 |2 +kg:| 107.0420 |R &% p o4 107.04.23 H5N2 | 107.04.23 1,845 ;%%

68 |2 +kgi| 107.05.03 |miwsx| p 4 107.05.08 H5N2 | 107.05.06 2,279

69 |2 4kgi| 107.0515 | #m| —‘_fi; 107.05.18 | H5N2 | 107.0518 | 16,379 ;74 5" "
70 | 2 +kgi| 107.05.07 | ¢ #%| M Ay | 107.05.19 H5N2 | 107.05.19 1,082 ;3 G’
71 |4 %7 | 107.0516 |frew®| 48 107.05.19 H5N2 | 107.05.19 761 [t
72 |45t gr| 107.0529 |=sEak| 3 4wy | 107.0603 | H5N2 | 107.06.03 2,505 [y i’
73 | ZtkEr| 107.05.31 | d %8| 4324 g | 107.06.03 | H5N2 | 107.06.03 13,095 [ pus” "
74 |4s7| 107.0531 |FrE2®%| * %8 | 107.06.09 H5N2 | 107.06.10 5590 ;5 unn’
75 | Z4kgh| 107.06.21 | F x| aivg | 107.0624 | H5N2 | 107.06.24 2,007 ;s
76 | Z 4kgi| 107.06.22 | s@#%| & fvg | 107.06.25 H5N2 | 107.06.25 4,200 |y gt e
77 |2 4kgi| 107.06.19 |F g% 1 £v4 | 107.06.30 H5N2 | 107.06.30 2,635 ) e
78 | 2 $kpi| 107.07.02 | A gsm| L 107.07.05 H5N2 | 107.07.05 610 [ 5 it *
79 | Z4kgr| 107.06.26 | §jtr#%| 2 4§ | 107.07.08 | H5% &k | 107.07.08 9,711 ;5 sne
80 |2 +kgt| 107.07.18 | s& #%| 2 %% | 107.07.30 H5N2 | 107.07.30 3411 [ bt




Yo¥l | B | BHEPH | g H P §p 13 HEPY | HBHEE L=
81 | Z4kRk| 107.07.27 |-k ks 107.07.30 | H5N2 | 107.07.31 32644 ;50"
82 | B & 2i| 107.08.13 | & msw 107.08.16 H5N2 107.08.16 19,381 |75t e
83 | 2 +kg:| 107.08.26 | & & #% 107.08.29 H5N2 | 107.08.29 22,336 |, o nt e
LAR NG &
84 | 2 4kg:| 107.08.30 | 4 #t#% 107.09.06 H5N2 | 107.09.06 2,066 |21 sieh
3.4 A8 3-100%F
85 | 2 +kgi| 107.09.03 | B4 107.09.06 H5N2 | 107.09.06 2,202 | n e
LgFN4 L
86 |2 4k%:| 107.09.16 | & smér 107.09.19 H5N2 | 107.09.19 1,830 [p.2 a5
3.4 8 33373
87 | Z kpt| 107.09.25 | 5 & #% 107.10.06 H5N2 | 107.10.06 4290 |y hnn”
5 88 | & g| 107.10.03 | @y % 107.10.06 H5N2 | 107.10.06 8,948 |, iy
g | 89 | Zihgi| 107.1020 | 107.1024 | H5N2 | 107.10.24 3,585 | hantt
90 | Z+kgi| 107.11.07 |4 B4 107.11.12 H5N2 107.11.10 14 [eenis
91 |2 +4kgr| 1071115 | & & #% 107.11.24 H5N2 | 107.11.25 2,206 |} e
92 | 2 4kg:| 107.11.21 |~ £ 4% 107.11.24 H5N2 | 107.11.25 1,378 |, hentt
93 |2 +4kgi| 1071121 | 4 %4 107.12.08 H5N2 | 107.12.08 1,891 33 i’
94 | 2 +kgi| 107.11.26 | & %5% 107.12.08 H5N2 | 107.12.08 3152 |y e
95 |35t %i| 107.12.06 | A ik 4L 107.12.15 H5N2 | 107.12.16 6,958 |7 £ it o2 s
96 |#+@+ | 107.12.17 | T4E% 107.12.19 H5N2 | 107.12.19 1,169
97 | 2 +kgr| 107.12.27 | jwss 107.12.30 H5N2 | 107.12.30 989
98 | 2 +kmi| 107.12.25 | #us=% 108.01.06 HS5N2 | 108.01.06 2,139
& B4 Bl 690,801
¥ | B | HEPH | Mg 44 Rz p gy Ergel] gEp P | Ha3tk B3
1 |44+ | 1070114 |§ %% | =25 | 1070116 H5N2 | 107.01.16 A7 [smsrcammh b
2 |49 | 1070114 |§EF | 23243 | 107.01.16 H5N2 | 107.01.16 BO|xms(a e a
3 |#% | 1070026 |4 L% | a0 d g | 107.01.28 H5N2 | 107.01.27 9| kimsr(a ke i
4 |49+ | 107.0211 |ty % | 232t | 107.0213 H5N2 107.02.13 198 ims(z ks g
E 5 |4a% | 107.03.03 |§ &% | st | 107.03.05 H5N2 | 107.03.08 B85 g4 e
w | 6 |Edp| 107.05.07 |£;548| 31t | 107.05.10 H5N2 | 107.05.10 7,163
7 |49 | 107.0509 |F EFE | st | 107.05.11 H5N2 | 107.05.11 365 msrCa s ) a b
8 |4a% | 107.0514 |§F &% | =323 | 1070517 | H5N2 | 107.05.17 10] I
9 |®:% | 107.0819 |k LE| 222 | 107.08.23 H5N2 | 107.08.27 1,615 %5k
10 |#iEg:| 1071003 |EiE+ | m¥ 2 3 | 107.10.06 H5N2 | 107.10.09 161 |5im 4 sariss
e 3 Bral it 9,447

117 10p A 4F £ A2 373 H 5 ~4818 > SH5% 2% 5 HEN2 HPAI -

217 24P ZHELE HHH T 45 §RIE R (P20 R) 0 FED Kop RHENG 4 i
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392 23p W ARB LB e AR E 7vEH60E > k%S 2 HEN2 HPAI -

4127 18p E4R LAY BT R B 0168

» M5 e B %% 5 HS5N2 HPAI -
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